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Question Numbers : (1 to 5)
Question Label : Comprehension



Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu , capital of the southwestern Sichuan provinee, which
legalised registration of children by unmarried women in february ., something China is considering
implementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and recerve child subsidies previously
only available to married couples . Crucially .Chen could access mvitro fertility (IVF) treatment legally in a
private clinic . She is now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally. getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an increase of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience .which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinece have also permitted vnmarried women to register their
children but IVF services for single women remain banned

Sub questions

Question Number : 1 Question Id : 68634012861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

[

. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634050801. 1
68634050802. 2
68634050803. 3
68634050804. 4

Question Number : 2 Question Id : 68634012862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| B

. Only unmarried women
3. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634050805. 1
68634050806. 2
68634050807. 3
68634050808. 4

Question Number : 3 Question Id : 68634012863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan province.

| ]

. China has age old policies to allow single woman to have children
3. China is suffering from demographic decline.

4. Chen works in logics company

Options :

68634050809. 1
68634050810. 2
68634050811. 3
68634050812. 4

Question Number : 4 Question Id : 68634012864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| o)

. bertha
3. bento
4. bigot

Options :

68634050813. 1
68634050814. 2
68634050815. 3
68634050816. 4



Question Number : 5 Question Id : 68634012865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
b

—

. Yev Lypeens

| S

. Yve Lyppens
3. Yiv Lyappen
4. Yve Lyippen

Options :

68634050817. 1
68634050818. 2
68634050819. 3
68634050820. 4

Question Id : 68634012860 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu . capital of the southwestern Sichuan provinee. which
legalised registration of children by unmarried women in february ., something China is considering
umplementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and receive child subsidies previously
only available to married couples . Crucially .Chen could access invitro fertility (IVF) treatment legally in a
private clinic . She 1s now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally, getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an inerease of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience ,which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinee have also permitted unmarried women to register their
children but IVF services for single women remain banned

Sub questions



Question Number : 1 Question Id : 68634012861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

g )

2. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634050801. 1
68634050802. 2
68634050803. 3
68634050804. 4

Question Number : 2 Question Id : 68634012862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[f IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| ]

. Only unmarried women

[F¥]

. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634050805. 1
68634050806. 2
68634050807. 3
68634050808. 4

Question Number : 3 Question Id : 68634012863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan provinee.

| B

. China has age old policies to allow single woman to have children

Lad

. China 1s suffering from demographic decline.

4. Chen works in logics company

Options :
68634050809. 1
68634050810. 2



68634050811. 3
68634050812. 4

Question Number : 4 Question Id : 68634012864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| B}

. bertha
3. bento
4. bigot

Options :

68634050813. 1
68634050814. 2
68634050815. 3
68634050816. 4

Question Number : S5 Question Id : 68634012865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
>

—

. Yev Lypeens

. Yve Lyppens

| S

3. Yiv Lyappen
4. Yve Lyippen

Options :

68634050817. 1
68634050818. 2
68634050819. 3
68634050820. 4

Sub-Section Number : 2
Sub-Section Id : 686340421
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634050821. 1
68634050822. 2
68634050823. 3
68634050824. 4

Question Number : 6 Question Id : 68634012866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634050821. 1
68634050822. 2
68634050823. 3
68634050824. 4

Question Number : 7 Question Id : 68634012867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634050825. 1
68634050826. 2
68634050827. 3



68634050828. 4

Question Number : 7 Question Id : 68634012867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634050825. 1
68634050826. 2
68634050827. 3
68634050828. 4

Question Number : 8 Question Id : 68634012868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ' TRANSCEND ' is:

1. Lower

| )

. Climb
3. Cross
4. Energise

Options :

68634050829. 1
68634050830. 2
68634050831. 3
68634050832. 4

Question Number : 8 Question Id : 68634012868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the word ' TRANSCEND ' is:

1. Lower

| B

. Climb
3. Cross

4. Energise

Options :

68634050829. 1
68634050830. 2
68634050831. 3
68634050832. 4

Question Number : 9 Question Id : 68634012869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634050833. 1
68634050834. 2
68634050835. 3
68634050836. 4

Question Number : 9 Question Id : 68634012869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634050833. 1
68634050834. 2
68634050835. 3
68634050836. 4



Question Number : 10 Question Id : 68634012870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to
protest the state education system.

1. m. of. to

| B}

. in, with. for
3. in. to. at

4. 1. on. before

Options :

68634050837. 1
68634050838. 2
68634050839. 3
68634050840. 4

Question Number : 10 Question Id : 68634012870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to

protest the state education system.

1. m. of. to

| B

. in, with. for
3.1n. to, at

4. in. on. before

Options :

68634050837. 1
68634050838. 2
68634050839. 3
68634050840. 4

Question Number : 11 Question Id : 68634012871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of a boy and a girl is 30 years. The ratio of their ages is 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

[ S
| ]
L]
Y}
L1
j<%]
=
ol

's, 35 years
3. 25 years, 40 years
4. 30 years , 42 years

Options :

68634050841. 1
68634050842. 2
68634050843. 3
68634050844. 4

Question Number : 11 Question Id : 68634012871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of a boy and a girl is 30 years. The ratio of their ages 1s 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

| S}
-
N
i
(1]
[=%]
-
i

s, 35 years
3. 25 years, 40 years
4. 30 years . 42 years

Options :

68634050841. 1
68634050842. 2
68634050843. 3
68634050844. 4

Question Number : 12 Question Id : 68634012872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An article 18 marked for  200. A shopkeeper earns 25% profit even after allowing ]2%% discount on it. What

is the cost price of the article (in ¥)?

1. 180

| B}

165
3. 140

4.112.50

Options :
68634050845. 1



68634050846. 2
68634050847. 3
68634050848. 4

Question Number : 12 Question Id : 68634012872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . S : . | . .
An article is marked for  200. A shopkeeper earns 25% profit even after allowing 12 —% discount on it. What
It ! P Elas

1s the cost price of the article (in )?

1. 180

| B

165
3. 140

4.112.50

Options :

68634050845. 1
68634050846. 2
68634050847. 3
68634050848. 4

Question Number : 13 Question Id : 68634012873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many years will a sum of ¥ 800 at 10% per annum compounded semi-annually become ¥ 926.10?

1. | — years

1

. | — years

| ]

3.2

|
— years
3

4. 3 years

Options :

68634050849. 1
68634050850. 2
68634050851. 3
68634050852. 4

Question Number : 13 Question Id : 68634012873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In how many years will a sum of Z 800 at 10% per annum compounded semi-annually become ¥ 926.10?

[y

.| — years

| ]

. | — years

2

fears

W | —
.,

4. 3 years

Options :

68634050849. 1
68634050850. 2
68634050851. 3
68634050852. 4

Question Number : 14 Question Id : 68634012874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3
2

Options :

68634050853. 1
68634050854. 2
68634050855. 3
68634050856. 4

Question Number : 14 Question Id : 68634012874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3a
2

Options :

68634050853. 1
68634050854. 2
68634050855. 3
68634050856. 4

Question Number : 15 Question Id : 68634012875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of a room 1s 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of Z40/m leaving an area of 15 m? for doors
and windows . Height of room (in m) 1s:

1.3.6

| B}

. 3.8
3.4
4.3

Options :

68634050857. 1
68634050858. 2
68634050859. 3
68634050860. 4

Question Number : 15 Question Id : 68634012875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The height of a room is 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of 240/m leaving an area of 15 m” for doors
and windows . Height of room (in m) is:

1.3.6

| S

3.8
3.4
4.3

Options :

68634050857. 1
68634050858. 2
68634050859. 3
68634050860. 4

Question Number : 16 Question Id : 68634012876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the water - image of the combination

"96FSH52"

Qo E2H?23
69 EZH2¢
0QEZH?23
69E2HC?

Options :

68634050861. 1
68634050862. 2
68634050863. 3
68634050864. 4

[y

| )

Lad

=Y

Question Number : 16 Question Id : 68634012876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the water - image of the combination

"96FSH52"

Qo EZ2H23
69LE2H?2E
0QEZH?23
+69Ek2HC?

Options :

68634050861. 1
68634050862. 2
68634050863. 3
68634050864. 4

[y

| )

Lad

Question Number : 17 Question Id : 68634012877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following figure find the number of triangles and squares ?

1. 44 triangles. 10 squares
2. 12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634050865. 1
68634050866. 2
68634050867. 3
68634050868. 4

Question Number : 17 Question Id : 68634012877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following figure find the number of triangles and squares ?

1. 44 triangles, 10 squares

| )

.12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634050865. 1
68634050866. 2
68634050867. 3
68634050868. 4

Question Number : 18 Question Id : 68634012878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| ]

. A3XLT
3. 12x16

4, 14=18

Options :

68634050869. 1
68634050870. 2
68634050871. 3
68634050872. 4

Question Number : 18 Question Id : 68634012878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| )

. 13x17
3, 12x16

4. 14+18

Options :

68634050869. 1
68634050870. 2
68634050871. 3
68634050872. 4

Question Number : 19 Question Id : 68634012879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A). (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

| S

.60

L]

.34

4. 64

Options :

68634050873. 1
68634050874. 2
68634050875. 3
68634050876. 4

Question Number : 19 Question Id : 68634012879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A), (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

2.60

L%

.34
4. 64

Options :
68634050873. 1



68634050874. 2
68634050875. 3
68634050876. 4

Question Number : 20 Question Id : 68634012880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the relationship among factory. machinery and product:

| ]

LIF¥]

Options :

68634050877. 1
68634050878. 2
68634050879. 3
68634050880. 4

Question Number : 20 Question Id : 68634012880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the relationship among factory. machinery and produect:

b

Options :

68634050877. 1
68634050878. 2
68634050879. 3
68634050880. 4

Question Number : 21 Question Id : 68634012881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, B and D only
3. A. Cand D only

4. A. B and C only

Options :

68634050881. 1
68634050882. 2
68634050883. 3



68634050884. 4

Question Number : 21 Question Id : 68634012881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, BandD only
3.A.CandD only

4. A. B and C only

Options :

68634050881. 1
68634050882. 2
68634050883. 3
68634050884. 4

Question Number : 22 Question Id : 68634012882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

wd

2. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634050885. 1
68634050886. 2
68634050887. 3
68634050888. 4

Question Number : 22 Question Id : 68634012882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

| B

. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634050885. 1
68634050886. 2
68634050887. 3
68634050888. 4

Question Number : 23 Question Id : 68634012883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. Maharashtra
B. [Lavami 1. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV JTharkhand

Choose the correct answer from the options given below:

1. A-I. B-1I, C-I11. D-IV

| B}

AT B-IV. C-II. D-III
3. A-IV, B-1. C-III, D-II
4. A-TV. B-1IL C-I, D-II

Options :

68634050889. 1
68634050890. 2
68634050891. 3
68634050892. 4

Question Number : 23 Question Id : 68634012883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. PMaharashtra
B. [Lavami II. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV, Jharkhand

Choose the correct answer from the options given below:

1. A-L, B-II, C-III. D-IV

| B

CA-L B-IV. C-I1, D-ITI
3. A-IV. B-1. C-II1. D-II

4. A-TV. B-IIL C-1, D-II

Options :

68634050889. 1
68634050890. 2
68634050891. 3
68634050892. 4

Question Number : 24 Question Id : 68634012884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recently launched ' Bharat - NCAP ' is related to:

1. Crash safety performance of cars

| S

. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634050893. 1
68634050894. 2
68634050895. 3
68634050896. 4

Question Number : 24 Question Id : 68634012884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recently launched ' Bharat - NCAP ' is related to:
1. Crash safety performance of cars
2. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634050893. 1
68634050894. 2
68634050895. 3
68634050896. 4

Question Number : 25 Question Id : 68634012885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634050897. 1
68634050898. 2
68634050899. 3
68634050900. 4

Question Number : 25 Question Id : 68634012885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634050897. 1
68634050898. 2
68634050899. 3
68634050900. 4



Part B: Botany

Section Id : 686340256
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340422
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reticulate type of chloroplast is a characteristic of which algae?
1. Qedogonium
1. Zyvgnema
3. Chlamydomonas
4. Vaucheria

Options :

68634050901. 1
68634050902. 2
68634050903. 3
68634050904. 4

Question Number : 26 Question Id : 68634012886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST gRawad o4 Uare &1 U Tl 72
1. FEITfaH

. fordiar

. RIS S

4. grERar

Options :
68634050901. 1

[ ]

¥



68634050902. 2
68634050903. 3
68634050904. 4

Question Number : 27 Question Id : 68634012887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which algae shows fungus like branched, coenocytic and siphonaceous thallus.

1. Navicula

| B]

. Vaucheria
3. Folvox
4. Polysiphonia

Options :

68634050905. 1
68634050906. 2
68634050907. 3
68634050908. 4

Question Number : 27 Question Id : 68634012887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I 91 YA, PaD | oRe ATEIGd, Y[R qul Ay Uey &2l g2

1. e

4. G Emif=ar

Options :

68634050905. 1
68634050906. 2
68634050907. 3
68634050908. 4

Question Number : 28 Question Id : 68634012888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are the common characteristic structural motifs of eukaryotic transeription factors, except:

1. helix-turn-helix (HTH)

[

. Zinc-finger
3. TFIIB
4. basic leucine zipper (bZIP)

Options :

68634050909. 1
68634050910. 2
68634050911. 3
68634050912. 4

Question Number : 28 Question Id : 68634012888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

................... & HldNad GG 5] Ao PR &b TAATHD P o
1. gfcie-c-gferay (Ta.d.wq)

RCAAIN

. ¢ UP 315 3T &1 (TFIIB)

4. IR A TR (& 5 31mg o)

| ]

LFS]

Options :

68634050909. 1
68634050910. 2
68634050911. 3
68634050912. 4

Question Number : 29 Question Id : 68634012889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Bacterial species showing several flagella at one pole are called:
1. Monotrichous
2. Lophotrichous
3. Amphitrichous
4, Peritrichous
Options :

68634050913. 1
68634050914. 2



68634050915. 3
68634050916. 4

Question Number : 29 Question Id : 68634012889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & d IR Bg HRNHSIE G arell Siarue Sfd & &1 $ed 62
1. T HRITHI
AL

YD
4, gfRrHt

Options :

68634050913. 1
68634050914. 2
68634050915. 3
68634050916. 4

[ ]

LFS]

Question Number : 30 Question Id : 68634012890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
A |Red rust disease of tea leaves | 1. | Taucheria
B. | Chlorellin II. | Cephaleuras
C. | Gongrosira stage II1. | Chiorella
D. | Sea palm IV | Portelsia

Choose the correct answer from the options given below:

1. A-TV. B-1. C-III. D-II

| ]

CA-ITL B-IV. C-11L. D-1
3. A-IL B-II1, C-I, D-IV
4. A-L. B-II. C-IV. D-III

Options :

68634050917. 1
68634050918. 2
68634050919. 3
68634050920. 4

Question Number : 30 Question Id : 68634012890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 Gl 11 9 o sifey

el 1 =T 11
A. [ &) ufi &1 ard favg I L | arEikar
B. [FIRH 1L |THegery
C. [TRITGRT 3@/ 111 | g
D. [FHsl d15 v gty
fafafad Al § 9 98t STk &1 994 $Ifon

1. A-TV. B-1. C-III. D-II
2. A-IIIL B-IV. C-I1. D-1
3. A-Il. B-I11, C-1. D-IV
4. A-I, B-II, C-TV. D-ITI

Options :

68634050917. 1

68634050918. 2

68634050919. 3
68634050920. 4

Question Number : 31 Question Id : 68634012891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Structure Name of organism
A |Heterocvst 1. | Cladophora
B. |Cap cells II. | Diatoms
C. | Frustule ITI. | Blue green algae
D. | Aegagrapilous forms | IV. | OQedogonium

Choose the correct answer from the options given below:

1. A-IV. B-IIL. C-1. D-II

| ]

CA-ITL B-IV. C-11L D-1
3. A-II. B-I. C-III. D-IV
4. A-I, B-1I. C-IV, D-III

Options :

68634050921. 1
68634050922. 2
68634050923. 3
68634050924. 4



Question Number : 31 Question Id : 68634012891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 BT I 11 9 e Sifey
TqT 1 T I

. [gerifeRe I [dOemR
Od BIRE | 1L [SHerd
e I11. [Hie BRd Xard
IO E| IV, [gaT-aH

Fafarad Aol & T 981 SR & 994 DIl

1. A-IV. B-III. C-1. D-II

olo|w|>

2

CA-IIL B-IV. C-I1. D-1
3. AT, B-I. C-II1, D-IV
4. A-1. B-II. C-TV. D-ITI

Options :

68634050921. 1

68634050922. 2

68634050923. 3
68634050924. 4

Question Number : 32 Question Id : 68634012892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Riboswitches are the small mRNA. which alter the expression of a gene.
Reason R: Alternation of expression is due to high specificity of mRNA to broad range of ligands.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :
68634050925. 1
68634050926. 2

68634050927. 3
68634050928. 4



Question Number : 32 Question Id : 68634012892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 P (UL B, U SATUBUT A (Assertion A) P $U T [A1GT & 0l THA IHP BT R(Reason R) P
U

SHTUGYT A: AZARTT TY mana & & 0o o 3 aifivefd &1 okafi & 8|

BRI R: HTUFT BT HATTAT mana BT @ eme $o o= fafwa & $RuEa 3|

SR HY= & fTaA® 4, - fGU T oFedl & ¥ §99 F9gad Sav &1 904 Difed
1. A SR R 951 § SR R, A ! 98l RS §

A SRR EH HEI € SR R. AT Hel A 61 §

AT ORI R TS TS R

4. A S TRl B APTR UG ®

Options :

68634050925. 1
68634050926. 2
68634050927. 3
68634050928. 4

[ ]

Question Number : 33 Question Id : 68634012893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is true about Gibberellins?

A. Gibberellins are terpenoid compounds, made up of isoprene units.
B. GA,;, is the precursor of all the other gibberellins.

C. GA; and GA; are directly responsible for the various effects in plants.

D. Size of seedless grapes can be increased by GA applications.
E. Gibberellin biosynthesis can be inhibited by application of Auxins.

Choose the correct answer from the options given below:

1. A.B. D only

| ]

.C,D, E only
3.A.B.C.E only

4.B. C.D only

Options :

68634050929. 1
68634050930. 2
68634050931. 3
68634050932. 4



Question Number : 33 Question Id : 68634012893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foresRfer & aR 7. Fafafed § s g g2

A forssRfer |, smeandF soeal O &1 edHigs 4ifte Bl
B. GA, 94T G fofesRicH &1 gdmHi g1
C. GA,; 3R GA, . T4l # fafirg wyal & fag We-Sw=erdi g

D. GA % U4 ¥ dioRied SRl &1 SR dg/dl ol 9bdl gl
E. e & S50 9 fosaRfer & oia SRayul &1 AT off 96l &

i feu U faeedi § U Ugl IR &1 98- Hifeig;
1.$dd A, B.D
2.5qd C,D.E
3.%dd A.B.C.E
4.%ad B.C.D

Options :

68634050929. 1
68634050930. 2
68634050931. 3
68634050932. 4

Question Number : 34 Question Id : 68634012894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for Alternative Splicing?
AL Tt increases the number of proteins that can be made from each gene.
B. It is a step in the process of post-translational regulation.
C. It can change the protein localization in the cell.

D. It defines removal of alternative introns from the mRNA.
E. It allows the humans to produce several hundred thousand different proteins from 25000 genes.

Choose the correct answer from the options given below:
1. B. D. only
2.B.C.D only
3.A.C.E only

4. A, E only

Options :
68634050933. 1



68634050934. 2
68634050935. 3
68634050936. 4

Question Number : 34 Question Id : 68634012894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafaiEd o dofcue daue & [y H-5H 9 82

A. T8 U oA I 494 a1elt 9icH &1 98 3 g dar gl

B. 7% UY 3areH a0 Uicha] &1 Us axul § |

C. U8 BIGT H Ui &1 RI=TTddr &1 uRafdd & 9sar gl

D. U8 mRNA ¥ 3% c0® add &1 geH &I aRyiied &dr gl

E. T8 25000 o1 4 P Sl- BRI HM4d Wi & a8 Semd &l s

=i feu U fdeed] § T Ugl IR &1 904 Difeig;
1.%dd B.D
2.%dd B.C.D
3.%dd A.C.E
4.5dd ALE

Options :

68634050933. 1
68634050934. 2
68634050935. 3
68634050936. 4

Question Number : 35 Question Id : 68634012895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

Botanical Name English Name
Cucumis sativa | 1. | Pumpkin
Cucumis melo II. | Melon
Curcurbita pepo| 111 | Cucumber
Citrullus lanatus] IV. | Water melon

REE

Choose the correct answer from the options given below:
1. A-IV. B-II. C-III. D-1
2. AL B-IL C-L. D-IV
3. A-L B-II. C-III. D-IV
4. A-IL. B-I11, C-1. D-IV

Options :

68634050937. 1
68634050938. 2
68634050939. 3
68634050940. 4

Question Number : 35 Question Id : 68634012895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 191 941 11 9 faH iy
T T I
PP gergal 1 [HEn
F@pEg Ha | 1 [ERaen
FIPelger 4ar | 1L [EdRT

Rcead aHcg| IV, [aRes
FafiRad fawedi § 9 Hel 3R &1 9d- DIy :

1. A-IV. B-II. C-III. D-I

ofa[=]»

2. AL, B-IL, C-L.. D-IV
3. A-I B-II, C-III. D-IV
4. A-I1, B-III. C-I1, D-IV

Options :

68634050937. 1
68634050938. 2
68634050939. 3
68634050940. 4



Question Number : 36 Question Id : 68634012896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eukaryotic ribosomes sediment in sucrose gradient with a sedimentation coetticient of:

1.100 8

-2

.90 8
3.808
4.1508

Options :

68634050941. 1

68634050942. 2

68634050943. 3
68634050944. 4

Question Number : 36 Question Id : 68634012896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b Iol HaUTdl § g RAle & AgaT SHadls............. 3fagTEH QRIS & WY 6

1.100 8

2.90 8
3.808S
4.150 8

Options :

68634050941. 1
68634050942. 2
68634050943. 3
68634050944. 4

Question Number : 37 Question Id : 68634012897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The chromosome 1s composed of heterochromatic terminal region called telomeres.

Reason R: Telomeres are important part of a chromosome and are required during chromatid separation in cell
cycle.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

b2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634050945. 1
68634050946. 2
68634050947. 3
68634050948. 4

Question Number : 37 Question Id : 68634012897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂaaﬁiﬂﬁ—[{ﬂqgﬁﬁﬁ\wzﬁAKAsserﬁon A]%Wﬁ%@ﬁ%?ﬁﬁ@%WR(Reasun
Ry ¥4 H

FUFYT A: O S [ToHauT (§Sipiaied) & 9 & §id & ford! 3aEs $el ofldl &
HRYT R: 06 S, URA & Tgayqul 4R 8 off (d BifesrEge O qUEH GUaesv] & [0 S{1awue ¢ |
SWRIF HUF & fTai® 4, = G0 7 odedl § ¥ 999 3vged Sax $1 90 Difed

1. A 3R R 31 981 € SR R. A DI 96! g &
A SRR G T § AR R AT H6! AR 78] ©
3. AT R AR U T |
4. A G T8I g AfPT R WET ©

Options :

68634050945. 1
68634050946. 2
68634050947. 3
68634050948. 4

b2

Question Number : 38 Question Id : 68634012898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An opportunistic fungal parasite that causes mycoses in animals:

1. Candida albicans

[

. Neurospora crassa
3. Tuber melanosporum
4. Pilobolus

Options :

68634050949. 1
68634050950. 2
68634050951. 3
68634050952. 4

Question Number : 38 Question Id : 68634012898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHa3 § B aTdl HISd Iy ST, Y U a9diel adm! udeial & SR e gl

i ol Fa!

1. 1SS Ucwi4
. RIEIRT T
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4. grgciisiory
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Options :

68634050949. 1
68634050950. 2
68634050951. 3
68634050952. 4

Question Number : 39 Question Id : 68634012899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A systematic study of recurrence of cereal rust in the plain of India was carried out by:
1. Dr. P. Maheshwari
2. Dr. K.C. Mehta
3. Dr. P.C. Mehta
4. Dr. Hargovind Khurana
Options :

68634050953. 1
68634050954. 2



68634050955. 3
68634050956. 4

Question Number : 39 Question Id : 68634012899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd & e &aF F 41 g 1 TRigha & favn & ve ooafud sierae [aae g fasar am um

1. 51 . Are
2. SI.a 4l Ogar
3. SIdl i ggar
4. 3. gXIa—< I

Options :

68634050953. 1

68634050954. 2

68634050955. 3
68634050956. 4

Question Number : 40 Question Id : 68634012900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aflatoxins are produced by:

1. Aspergillus flavus

[

. Penicillium rubrum

L%

. Cordyceps purpurea

=Y

. Claviceps purpurea

Options :

68634050957. 1
68634050958. 2
68634050959. 3
68634050960. 4

Question Number : 40 Question Id : 68634012900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050957. 1

68634050958. 2

68634050959. 3
68634050960. 4
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Question Number : 41 Question Id : 68634012901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
Name Organism
A | Black wart disease of potato | 1. | Svrchvirium endobioticum
B. | Black Mould II. | Achyla bisexualis
C. | Water Mould 111 | Aspergillus niger
D. | Blue or Green Mold IV. | Penicillium chryvsogenum

Choose the correct answer from the options given below:

1. A-IV. B-II, C-III. D-I
2. A-III. B-I. C-IV, D-II
3. AL B-IV. C-1, D-ITI
4. A-L. B-III. C-II. D-IV

Options :

68634050961. 1

68634050962. 2

68634050963. 3
68634050964. 4

Question Number : 41 Question Id : 68634012901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D.
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Fafafad 9ol § O 981 SR & 994 STl -

1. A-IV. B-1I. C-III. D-I

b2

AL B-LL C-IV. D-I1
3. A-IT, B-IV, C-1. D-III
4. A-1, B-III. C-II, D-IV

Options :

68634050961. 1
68634050962. 2
68634050963. 3
68634050964. 4

Question Number : 42 Question Id : 68634012902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parasexual cycle brings variation in those fungi where sexual reproduction is absent. Arrange the following
steps involved in the cycle sequentially:

A. Multiplication of diploid nuclei.

B. Formation of heterokaryotic myecelium and nuclear fusion.

C. Sorting of diploid nuclei and oceasional haplodization of diploid nuclei.
D. Occasional mitotic crossing over.

E. Sorting of new haploid strain.

Choose the correct answer from the options given below:

I: DCr B By A

b2

ADCEB
3. BADCE
1. A B.CDE

Options :

68634050965. 1
68634050966. 2
68634050967 3
68634050968. 4



Question Number : 42 Question Id : 68634012902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CRTCITT Iep Ul 31 Bibal § fdfdedr @ & iU Usp dabicud Uishan g, ford i Woi- g1 gidl | I
& fog g ferfad =Rl &1 SHER i H # gafyd Sifsu)

A. TgTIfUrd Ssepi &1 U

B. Ao Saoud bs® Gag- $I HH

c. Bt =t @t Sers aut Fl-F0 o =i &1 s
D. 3R 9Ol faFHmg g

E. T4 3 faopfa 31 Sers

I feu U f[aeedi § T ggl IR &1 98- Difoig;

1.D.C.E.B.A

22AD.CEB
3. B.AD.C.E
4 A B.C.D.E

Options :

68634050965. 1
68634050966. 2
68634050967. 3
68634050968. 4

Question Number : 43 Question Id : 68634012903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Among the fossils, well preserved leaf venation pattern can be seen n:

1. Coal balls
2. Incrustation fossils
3. Compactation fossils
4. Impression fossils

Options :

68634050969. 1

68634050970. 2

68634050971. 3
68634050972. 4

Question Number : 43 Question Id : 68634012903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050969. 1
68634050970. 2
68634050971. 3
68634050972. 4

Question Number : 44 Question Id : 68634012904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Microspores are liberated at 5-celled stage of male gametoplytes in:

1. Pinus

2. Cycas

L%

. Ephedra
4. Ginkgo

Options :

68634050973. 1
68634050974. 2
68634050975. 3
68634050976. 4

Question Number : 44 Question Id : 68634012904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. GIshY
. Tl
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Options :
68634050973. 1
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68634050974. 2
68634050975. 3
68634050976. 4

Question Number : 45 Question Id : 68634012905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gradate sori can be seen in:

1. Marsilea

| ]

. Selaginella

3. Preris

4. Ophioglossum
Options :
68634050977. 1
68634050978. 2

68634050979. 3
68634050980. 4

Question Number : 45 Question Id : 68634012905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050977. 1
68634050978. 2
68634050979. 3
68634050980. 4

Question Number : 46 Question Id : 68634012906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



has elaterophores present in the apical region of the capsule.
1. Pellia
2. Riccia
3. Anthoceros
4. Riccardia

Options :

68634050981. 1
68634050982. 2
68634050983. 3
68634050984. 4

Question Number : 46 Question Id : 68634012906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 7 3 forad ey geferer Suiyda 32

1. Gferar

. Rfegar
4. J‘?@Hg-@?

Options :

68634050981. 1

68634050982. 2

68634050983. 3
68634050984. 4

[ )

L

Question Number : 47 Question Id : 68634012907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |dnthoceros I. |[Hormworts
B. |Sphagnum II. Maiden hair fenm|
C. Adiantum I11. [Roval ferm
D. |Osmunda IV. |Peat moss

Choose the correct answer from the options given below:

1. A-L B-IV, C-II, D-III
2. A-L B-1I, C-IV. D-ITI
3. A-IV. B-1. C-I1. D-III
4. A-I. B-II. C-IIL. D-IV

Options :

68634050985. 1

68634050986. 2

68634050987. 3
68634050988. 4

Question Number : 47 Question Id : 68634012907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Gl 11 9 o sifey
T I T

A. |gurdvrg 1 [giHdc

B. |@ra 1. [9H I quri

c |efer=g I11. R7aet goTi

D. |afrgHsT IV, [die A"

fgfeiad fdsedi § O 98] SR &1 944 Hifert

1. A-L B-1V. C-II, D-III
2. A-I B-IL C-IV, D-III
3. A-IV. B-1, C-II, D-III
4. A-I, B-II, C-IIL, D-IV

Options :

68634050985. 1

68634050986. 2

68634050987. 3
68634050988. 4

Question Number : 48 Question Id : 68634012908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
A | Lutoids I | Sieve elements
B. | Nacre' wall II. | Idioblast
C. | Cystolith IT1. | Cork cambiuom
D. | Phelloid cell | IV. | Laticifers

Choose the correct answer from the options given below:
1. A-IL. B-IV, C-III. D-I

2. A-IV. B-1. C-I1. D-III

L

CA-L B-IOIL C-IV, D-I1
4. A-III. B-II. C-1. D-IV

Options :

68634050989. 1
68634050990. 2
68634050991. 3
68634050992. 4

Question Number : 48 Question Id : 68634012908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 g4 11 9 e ifey
T I T I
A [cgems I [aa i
B. [4® fHid 1. [lsalaare
C [y 111 [l hitagd
D. [Gaigs SIfd] V. [aeiRme

fFrafafed faedl & 9 98l SR 1 991 DIl -

1. A-11. B-I'V. C-I11. D-1
2. A-IV. B-1. C-I1. D-III
3. A-L B-IILL. C-IV. D-II
4. A-ITI. B-1I. C-1. D-IV

Options :

68634050989. 1

68634050990. 2

68634050991. 3
68634050992. 4



Question Number : 49 Question Id : 68634012909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
A | WUSCHEL gene I. | Stomata
B. | TOO MANY MOUTHS gene| I1. | Vascular bundles
C. | GLABROUS gene 171 | Shoot Apical Meristem
D. | Wilted gene IV | Trichome

Choose the correct answer from the options given below:

1. A-I B-IV. C-II. D-III
2. A-I1. B-I11, C-1, D-IV
3. A-II1, B-1. C-IV. D-II
4. A-IV. B-1I. C-III. D-I

Options :

68634050993. 1

68634050994. 2

68634050995. 3
68634050996. 4

Question Number : 49 Question Id : 68634012909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 191 i 1 F fa S
T 1 T 1
A |g=iersia 1 Ry
B. | & o | 1. [Hdg- d8d
¢ [Fevgsia [ m RiE 2 faysaas
D. [masid [ 1v. [@arE

fafeiad fdsedi O T 9al 3R &1 904 Difert .

1. A-I B-1V. C-II, D-III
2. A-II, B-III, C-I, D-IV
3. A<IIT, Bl G-IV, DI
4. A-IV. B-II, C-III, D-I

Options :

68634050993. 1

68634050994. 2

68634050995. 3
68634050996. 4



Question Number : 50 Question Id : 68634012910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Fibers commonly formed in the secondary xylem of tension wood are termed:
1. Substitute fibers
2. Libriform fibers
3. Gelatinous fibers
4, Fiber tracheids
Options :
68634050997. 1
68634050998. 2

68634050999. 3
68634051000. 4

Question Number : 50 Question Id : 68634012910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YA TS B (gl aro/agad 5 Ui &9 arel SR Bl HEd 87
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Options :

68634050997. 1
68634050998. 2
68634050999. 3
68634051000. 4

Question Number : 51 Question Id : 68634012911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vascular bundle. in which the primary xylem is bounded both to the inside and outside by strands of primary
phloem. is known as:

1. Collateral bundle
2. Bicollateral bundle
3. Amphivasal bundles

4. Amphieribral bundles

Options :

68634051001. 1
68634051002. 2
68634051003. 3
68634051004. 4

Question Number : 51 Question Id : 68634012911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051001. 1
68634051002. 2
68634051003. 3
68634051004. 4
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Question Number : 52 Question Id : 68634012912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A | Osmunda 1. | Amphivasal vascular bundles
B. | Cucurbita II. | Collateral vascular bundles
C. |Acorus I1I. | Bicollateral vascular bundles
D. | Cassia IV, | Amphicribral bundles

Choose the correct answer from the options given below:
1. A-IIL. B-L. C-II. D-IV
2. A-L B-1I, C-IV. D-ITI
3. AL B-IV, C-I11. D-1
4. A-IV, B-III. C-I, D-II

Options :

68634051005. 1
68634051006. 2
68634051007. 3
68634051008. 4

Question Number : 52 Question Id : 68634012912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Gl 11 9 o sifey

T I T 10
HIGHST 1. [diyaTg d=sil Ug
R 11 [&fg-09dre! 4d
THNT 111 [3YAUI9aTs! O
Fiear V. [F15a i g

Fafafad 9ol § O 981 SR & 994 STl -

1. A-IIIL. B-I. C-I1. D-IV

ofa[w]-

2. AL B-IIL C-IV, D-IIT
3. A-IT, B-IV, C-II1, D-I
4. A-IV. B-1II. C-1, D-II

Options :

68634051005. 1
68634051006. 2
68634051007. 3
68634051008. 4

Question Number : 53 Question Id : 68634012913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Wild species of Dioscorea are used for the extraction of steroidal sapogenins which can be
converted into cortisone. testosterone and oestrogen as well as progesterone.

Statement IT: The inflorescence of Colocasia esculenta is spadix with short pedunele which 1s shorter than the
petiole.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

b2

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect

LS%]

4. Statement I 1s incorrect but Statement II 1s correct
Options :
68634051009. 1
68634051010. 2

68634051011. 3
68634051012. 4

Question Number : 53 Question Id : 68634012913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051009. 1
68634051010. 2
68634051011. 3
68634051012. 4

Question Number : 54 Question Id : 68634012914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Cymbopogon citratus is known as citronella grass which is a native of Sri Lanka.

Reason R: Citronella grass essential oil has significant amount of Citronellal and Geranoil content, besides
Geranial and Borneol.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A 1s not correct but R is correct

Options :

68634051013. 1

68634051014. 2

68634051015. 3
68634051016. 4

Question Number : 54 Question Id : 68634012914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 U (AU T B, U SHTUBUT A(Assertion A)P 39 H [RET ¢ Tl GHI 3YD BRI R(Reason
R)/& 30 H

AfYPYT A: g Rgcas! R am o &8 o € of fids1 $13-w g1

ﬁn;ﬁeﬁmmwwﬂaﬁﬁ%ﬁmamaﬁﬁﬂéﬁ sffafvad Rienaa SR sRiga arde g |
|

SWRIF HYH & 3fdid 4, < G0 T fodhedl § ¥ §99 I7gad Sav Pl 90 Difeld
1. A SR R 3T I € IR R. A DI 9! AT &

A SRR I T8I € AR R. ADI Tel ARAT 61 o

AT AFIR T A R

4. A TRl Sl gAGIR TEI ©

Options :

68634051013. 1
68634051014. 2
68634051015. 3
68634051016. 4
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Question Number : 55 Question Id : 68634012915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sapodilla. belongs to family.
1. Oxalidaceae
2. Sapotaceae
3. Caricaceae
4. Vitaceae
Options :
68634051017. 1
68634051018. 2

68634051019. 3
68634051020. 4

Question Number : 55 Question Id : 68634012915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Szt A 2 fra pa &
1. siirretisd!
2. Jarest
3. ol
4, drgcd!
Options :
68634051017. 1
68634051018. 2

68634051019. 3
68634051020. 4

Question Number : 56 Question Id : 68634012916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Vigna unguiculata| 1. | Black gram
Phaseolus mungo | I | Bengal gram
Cicer arietinum | [I1. | Cow peas
Phaseolus aureus | IV, | Green gram

oo ==

Choose the correct answer from the options given below:
1. A-II, B-III. C-1. D-IV
2. A-III. B-1. C-I1, D-IV
3. A-IV. B-1I., C-I11. D-1
4. A-IIL. B-IV. C-II. D-I

Options :

68634051021. 1
68634051022. 2
68634051023. 3
68634051024. 4

Question Number : 56 Question Id : 68634012916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Gl 11 9 o sifey
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1. A-II. B-III. C-1. D-IV

E

2. AL B-1. C-1I. D-IV
3. A-IV, B-I1, C-III, D-I
4. A-III, B-IV. C-II. D-I

Options :

68634051021. 1
68634051022. 2
68634051023. 3
68634051024. 4

Question Number : 57 Question Id : 68634012917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Age pyramid having a bell-shaped polygon denotes:

1. Increasing population
2. Decreasing population
3. Stable population
4, Fluctuating population

Options :

68634051025. 1

68634051026. 2

68634051027. 3
68634051028. 4

Question Number : 57 Question Id : 68634012917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051025. 1
68634051026. 2
68634051027. 3
68634051028. 4

Question Number : 58 Question Id : 68634012918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Mutations occuring in cell other than germ cells are known as:
1. Silent mutation
2. Somatic mutation

3. Missense mutation

4, Point mutation

Options :
68634051029. 1



68634051030. 2
68634051031. 3
68634051032. 4

Question Number : 58 Question Id : 68634012918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051029. 1
68634051030. 2
68634051031. 3
68634051032. 4

Question Number : 59 Question Id : 68634012919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Variations in chromosome number represented by 2n+1 in organisms are called:

1. Monosomy
2. Diploidy
3. Trisomy
4. Disomy

Options :

68634051033. 1

68634051034. 2

68634051035. 3
68634051036. 4

Question Number : 59 Question Id : 68634012919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wital § 20 + 1 GRI Hfaffiia &1 o= arel oRE! &1 Sem 3 fafiad & @ oed 82
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Options :

68634051033. 1
68634051034. 2
68634051035. 3
68634051036. 4

Question Number : 60 Question Id : 68634012920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Specialized chromosomes associated with larvae of some flies are called:
1. Lampbrush chromosome
2. Metacentric chromosome
3. Polytene chromosome
4. Somatic Chromosome
Options :
68634051037. 1
68634051038. 2

68634051039. 3
68634051040. 4

Question Number : 60 Question Id : 68634012920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o Hidadl & dRdl ¥ H&idd [y URE 1 Hgdrd 62
1. SHPISRI UREA
. e UIgA

LERFRILEE
. BID O
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Options :
68634051037. 1



68634051038. 2
68634051039. 3
68634051040. 4

Question Number : 61 Question Id : 68634012921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Homologus chromosomes containing identical gene sites along their length called:

1. Alleles
2. Loci
3. Dialleles
4. Chiasmata

Options :

68634051041. 1

68634051042. 2

68634051043. 3
68634051044. 4

Question Number : 61 Question Id : 68634012921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ESIT TORE & S-a! dars & Ty e s wasa s fimsl | @ed @

1. Ucitcr/fdeedt

TS gUd

fgfamedt
4, fopuerTeT

Options :

68634051041. 1

68634051042. 2

68634051043. 3
68634051044. 4

[ ]

L

Question Number : 62 Question Id : 68634012922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Recombination in Bacteria| I | Transcription factor
B. | Clover leaf model II. |snENA
C. | Spliceosome 1T | Rec A protein
D. | Zinc-finger IV, |t-RNA

Choose the correct answer from the options given below:

1. A-I, B-III. C-IV. D-II
2. AL B-IV. C-I11. D-I
3. A-IIL B-IV. C-I1. D-1
4. A-IV, B-III. C-I, D-II

Options :

68634051045. 1

68634051046. 2

68634051047. 3
68634051048. 4

Question Number : 62 Question Id : 68634012922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 Gl 11 9 o sifey
Gl T 1
A [Siiarugst H g:are- L. [erciE R
B. [P Alsa II. snRNA
C. [(Spliceosome) TEISMGIHGH| I11. [Rec A UIEH
D. [N IR IV. f-RNA
fFafaiad famedi © 9 Tgl 3R &1 99 DIt :

1. A-I. B-III. C-TV. D-II
2. A-II. B-IV. C-II1. D-I
3. A-IILL B-IV. C-I1. D-1
4. ATV, B-II1. C-1, D-11

Options :

68634051045. 1

68634051046. 2

68634051047. 3
68634051048. 4

Question Number : 63 Question Id : 68634012923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Satellite DNA is absent in:

A Plasmid

B. Prokaryotes
C. Eukaryotes
D. Drosophila
E. Yeast

Choose the correct answer from the options given below:

1. C.D only

J

A, B only
3. D only
4.D. E only

Options :

68634051049. 1
68634051050. 2
68634051051. 3
68634051052. 4

Question Number : 63 Question Id : 68634012923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jearse ST g E 4 fogd =8 o 2

A WVHS

B. Wb b=

C. ghRare

D. Sigifter

E. G4R

i fau Tt faeedi & T 96l 3R &1 99 DI

1.FddC. D

2. %dd A, B

3. Had D

4. $dAD.E

Options :

68634051049. 1
68634051050. 2
68634051051. 3
68634051052. 4



Question Number : 64 Question Id : 68634012924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Commeon Name Edible Protein
A | Papava I. | Pericarp
B. | Sapodilla II. | Mesocarp
C. | Banana IT1. | Pericarp, Placenta
D. | Guava IV, | Mesocarp, endocarp

Choose the correct answer from the options given below:

1. A-L, B-II. C-III, D-IV

[ S)

CA-IV. B-ILL C-I1L D-1
3. AL B-1L C-IV, D-III
4. A-IIL. B-IV. C-I, D-II

Options :

68634051053. 1
68634051054. 2
68634051055. 3
68634051056. 4

Question Number : 64 Question Id : 68634012924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 61 Gl 11 9 i sifey
T 1 Tt 11
A [gdtar 1 [maruf
B [di@ 1L [t
C. [l 111 [Herl i, disisrgd
D. [30%g IV. [FsOpal i, 3d- oy
Fafaied faeedi H ¥ 9g! SR &1 99 Hifu :

1. A-L. B-II. C-III, D-IV

2. A-IV, B-III. C-I1. D-1I

3. A-I1, B-1. C-IV. D-III

4. A-III, B-IV. C-I, D-II
Options :

68634051053. 1
68634051054. 2



68634051055. 3
68634051056. 4

Question Number : 65 Question Id : 68634012925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first step in protein synthesis is the binding of the small ribosomal unit to the ribosome binding site of the
mRNA that contains one of the following codons:

1. UUA
2. UAU
3. AAU
4. AUG
Options :
68634051057. 1
68634051058. 2

68634051059. 3
68634051060. 4

Question Number : 65 Question Id : 68634012925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS TR0 & YN RO H ASET B Y SHT%, mRNA D 3 ASaH 94 S P 1Y §¢ 11
8. o 0 5 9 1 U wgpe S &1

1. UUA

|

.UAU
3. AAU
4. AUG

Options :

68634051057. 1
68634051058. 2
68634051059. 3
68634051060. 4

Question Number : 66 Question Id : 68634012926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The chemical potential of an uncharged solute S. in a given medium can be defined as in
equation

e =p° +RT Ina

Statement II: 1°, = standard chemical potential

1s at 1M concentration

R = Gas constant

T = Temperature

a = Natural logarithm of the activity a of the solvent

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

d

2. Both Statement I and Statement II are false
3. Statement I is true but Staternent IT is false

4. Statement I 15 false but Statement IT 1s true

Options :

68634051061. 1
68634051062. 2
68634051063. 3
68634051064. 4

Question Number : 66 Question Id : 68634012926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051061. 1
68634051062. 2
68634051063. 3
68634051064. 4

Question Number : 67 Question Id : 68634012927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct sequence for raw cotton processing into yarn and woven clothes is:
A. Ginning
B. Picking
C. Combing and drawing of drafting
D. Baling
E. Carding
Choose the correct answer from the options given below:
1.AB.C.D.E
2A CBED
3.4, DB, E.C

4. B.C.D.E.A



Options :

68634051065. 1
68634051066. 2
68634051067. 3
68634051068. 4

Question Number : 67 Question Id : 68634012927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BU T YT (XM G911 B UlhaT 9T 399 BUST g4 61 9gl 3951 ©:
A, 3eTg

B. T
C. HH T qUT YT g7 YreTu]
D. T &M
E. {5
I feu 7T faoed & 9 981 3R &1 994 DI

1.LA.B.C,D.E

2ACB.ED
3.A,D,B.B.C
4 B.C.D.E.A

Options :

68634051065. 1
68634051066. 2
68634051067. 3
68634051068. 4

Question Number : 68 Question Id : 68634012928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Y-shaped or 2-channel energy flow model of E.P. Odum is more realistic than linear energy flow
model of Lindeman.

Reason R: Y-shaped model is realistic because it has both grazing and detritus food chains.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are truc and R 1s the correct explanation of A

b2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is false

4. A 1s not false but R 1s true

Options :

68634051069. 1
68634051070. 2
68634051071. 3
68634051072. 4

Question Number : 68 Question Id : 68634012928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 & $UA (AU T §, UP SITUBUT A(Assertion A)d U H (SR ¢ @l GET 3D BRI R(Reason
Ry ¥4 H
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gl |
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2. A R REH 981 € SR R. A D He! R el o
AT IR TG TE R
4. A TR TR BAPTIR TG R
Options :
68634051069. 1
68634051070. 2

68634051071. 3
68634051072. 4

Question Number : 69 Question Id : 68634012929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Vivipary can be observed in-
1. Xerophytes
2. Halophytes
3. Mesophytes
4. Heliophytes
Options :
68634051073. 1
68634051074. 2

68634051075. 3
68634051076. 4

Question Number : 69 Question Id : 68634012929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634051073. 1
68634051074. 2

68634051075. 3
68634051076. 4
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Question Number : 70 Question Id : 68634012930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The zone of transition between two communities is called:
1. Ecad
2. Ecotone
3. Ecotype

4. Edge effect

Options :
68634051077. 1



68634051078. 2
68634051079. 3
68634051080. 4

Question Number : 70 Question Id : 68634012930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l Yga| & &l HehHUT 4 &1 Il gd 62
1.5%S
R CaERRFAEEa
. giieey

4. HR-YHE

[ ]

L

Options :

68634051077. 1
68634051078. 2
68634051079. 3
68634051080. 4

Question Number : 71 Question Id : 68634012931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order for the process of plant succession is:

A. Migration
B. Nudation

C. Ecesis

D. Stabilization
E. Reaction

Choose the correct answer from the options given below:

1.B.AE.C.D

| ]

A B, C.E.D
3. B A CED
4 B.C.A.D.E

Options :

68634051081. 1
68634051082. 2
68634051083. 3
68634051084. 4

Question Number : 71 Question Id : 68634012931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

qIEY HIHHY BT ol Y &:

A Ua
B. 3ATS5IG

C. ARG/ -arard
D. RITIEHI0]

E. 3ffisfdan

- fSu U [doredl | ¥ 9l 3U= &1 994 Sl

1.B.AE.C.D

2.4 B, CE.D
3 B.A.C.E.D
4.B.C.A.D.E

Options :

68634051081. 1
68634051082. 2
68634051083. 3
68634051084. 4

Question Number : 72 Question Id : 68634012932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
A, |clspeenile I Tail, snout, ear and legs of
mammals
B. | Bergman rule II. Bird wings
C. |Allen rule IT1. |S1ize of animal and body parts
D. | Rensch rule IV. [Effect on coloration

Choose the correct answer from the options given below:

1. A-IV. B-IIIL. C-I. D-II
2. A-IV, B-L. C-III, D-II
3. A-L B-II. C-TII, D-IV
4. A-IL B-III. C-1. D-IV

Options :

68634051085. 1

68634051086. 2

68634051087. 3
68634051088. 4



Question Number : 72 Question Id : 68634012932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 =l 11 ¥ fiaH Sife

AT T 11
R @1 99| 1 [RETNG @1 Ug, 916, $1H AR R
S0 @1 (99| 1L [ofemi & R
TerH &1 99 | 1L (170l & TRIR a1 HET &1 SHY
FIgE |1V ReH 9 UyE

frafaied fame o T el ST @1 907 DI -

1. A-IV. B-III. C-1. D-II

ofal=[>

2. A-IV, B-1, C-III, D-I1
3. A-L B-II, C-III, D-IV
4. A-IT, B-III, C-I, D-IV

Options :

68634051085. 1
68634051086. 2
68634051087. 3
68634051088. 4

Question Number : 73 Question Id : 68634012933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |APG classification 1. | Charles Bessey
B. | Strobiloid theory II. | G. Benthem and Sir J.D. Hooker
C. | Die Naturlichen Pflanzen familien | I[I1. | Kare Bremer and Birgitta Bremer
D. | Genera Plantarum IV, | Adolf Engler and K. A Prant]

Choose the correct answer from the options given below:
1. A-IV. B-II, C-III. D-I
2. A-IL B-IIL C-I. D-IV
3. A-L B-IV. C-11. D-ITT
4. A-IT1. B-1. C-IV. D-II
Options :
68634051089. 1

68634051090. 2
68634051091. 3



68634051092. 4

Question Number : 73 Question Id : 68634012933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 191 g1 11 & F1Y e Sifoy

T I T I
. |apc FfiERT 1. [arce o
1Y [HGId (Strobiloid theory)| 11 [ofl §4H qUT T o 3] g%
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. [OHR WA V. [USTeh WIeR a4 & ¢ ¥

Fafaiad Aol § 3 9l 3u) &1 99+ S

1. A-IV. B-II. C-III. D-I

o|ofw|e

2. AL B-II1L, C-1, D-IV
3. A-L B-IV, C-II. D-III
4. A-II1. B-1. C-IV, D-II

Options :

68634051089. 1
68634051090. 2
68634051091. 3
68634051092. 4

Question Number : 74 Question Id : 68634012934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A specimen is termed . when in the absence of a holotype it is selected from the original
material cited by the author.

1. Neotype

2. Lectotype

L]

. Isotype

e

. Syntype

Options :

68634051093. 1
68634051094. 2
68634051095. 3
68634051096. 4

Question Number : 74 Question Id : 68634012934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051093. 1
68634051094. 2
68634051095. 3
68634051096. 4

Question Number : 75 Question Id : 68634012935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cerasus cornuta was first identified and named by Wallich but he failed to get it in a valid manner.
Subsequently. it was validly published by Royle, Therefore. its scientific name would be correctly written as:

1. Cerasus cornuta Wall. in Royale
2. Cerasus cornuta Wall. emend Royle
3. CeraSus cornuta Wall. ex Royle
4. CeraSus cornuta Wall. [Royle]
Options :
68634051097. 1
68634051098. 2

68634051099. 3
68634051100. 4

Question Number : 75 Question Id : 68634012935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051097. 1

68634051098. 2

68634051099. 3
68634051100. 4

Question Number : 76 Question Id : 68634012936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: It is valid to accept the applicability of generic name Cecropia for moths as well a tropical tree
species.

Statement II: According to nomenclatural codes. same names are not allowed across the codes.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

J

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ 1s incorrect but Statement II is correct

Options :

68634051101. 1
68634051102. 2
68634051103. 3
68634051104. 4

Question Number : 76 Question Id : 68634012936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. PYF 1 UGl 5. Aifch YA 11 7Te1d §
4. PYFITTEA §. Qb DY Tl §

Options :

68634051101. 1
68634051102. 2
68634051103. 3
68634051104. 4

Question Number : 77 Question Id : 68634012937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Hedyserum cornutum L. 1763 e
| (==) Hedyserum spinosum L _1739] -
B. | dcacia nilotica ssp nilotica II. | Nothospecies
C. | Malus malus II1. | Nomenclatural synonyim
D | Salix awita X Salix caprea IV | Autonym

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III
2. A-IILL B-IV. C-L, D-II
3. A-IL B-1. C-TIIL, D-IV
4. A-IV. B-1II. C-II. D-I

Options :

68634051105. 1

68634051106. 2

68634051107. 3
68634051108. 4

Question Number : 77 Question Id : 68634012937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 Gl 11 9 o sifey
T 1 = I

W w1 L=

BISUNT BITYcHL. 1763
=) ?@%ﬁ%?ﬂ?ﬁ?ﬁﬁl_ 1759| T ISR

THIGaT] FANCH ssp FlclicHT | 1L [FIURIRI
I Hicrd 11 [HTd g G41]
Ticiad HGeTX dicied auial | IV, [@am

fafafad fdeeal § O 98l Ik &1 99 S

1. A-I. B-II. C-IV, D-III

ofofw] »

2. AL B-IV. C-1. D-II
3. A-IL. B-I. C-III. D-IV
4. A-IV, B-I1I. C-II. D-I

Options :

68634051105. 1
68634051106. 2
68634051107. 3
68634051108. 4

Question Number : 78 Question Id : 68634012938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In gametophytic self-incompatible flowering plants. the direction of information to mhibit pollen
tube is from pistil to pollen.

Reason R: The female determinants localized in the pistil interact with the pollen tubes in the style or ovule to
inhibit the incompatible tube.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634051109. 1
68634051110. 2
68634051111. 3
68634051112. 4



Question Number : 78 Question Id : 68634012938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 PU (AU T §, U SHNBYH (Assertion A) $U I [Tl § Il §IRT 3HD PRUI (Reason R.)P ¥
H

SHIHHU A UG TG-S Y UIgl 5, WRAT Al & SARIYH B G P G2 TWbE § A
®I R BIdl 8|

BRI R: WIHR 1 RHed 18] FuRe, dieis a1 g o 38T Tl & faviud & g wET Afres i
Jafpar s g

SWRIH DY & Taid &, 19 34U 70 fdoedi § U 98 Iuged I &1 949 Difly
1. A SR R &M H81 € SR R, A D! HE| ARAT &
2. A 3R R EHI U8l § SR R. A D! Hel A 751 ¢
3. AT S U R T B
4. A TS 78 8 ich R WEl &

Options :

68634051109. 1
68634051110. 2
68634051111.3
68634051112. 4

Question Number : 79 Question Id : 68634012939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The type of embryogeny in which the apical cell of a 2-celled proembryo divides transversely and both the
daughter cells contribute to the development of embryo 1s known as

1. Asterad type

| ]

. Crucifer type

¥ %]

. Chenopodiad type

e

. Caryophyllad type

Options :

68634051113. 1
68634051114. 2
68634051115. 3
68634051116. 4

Question Number : 79 Question Id : 68634012939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a8 YUiieHa o fEa ety ey & S ST sy $9 I fGuifsd gidt € SiR 3F1 Iafa
HIRIPIY YUl & 9™ &AM <l 6-

1. TS TR
2. U UBR

3. HEMISTIS UBR

4. ﬂﬂliq_\[qﬁlﬁﬂlﬁ SR

Options :

68634051113. 1
68634051114.2
68634051115. 3
68634051116. 4

Question Number : 80 Question Id : 68634012940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For commercial production of hybrid seeds, the three lines namely A, B and C refer to:

1. Maintainer, female parent and restorer. respectively.

b2

. Restorer, Maintainer, bisexual parent respectively
3. Bisexual parent, Restorer and Female parent respectively
4, Female parent, Maintainer and Male parent respectively
Options :
68634051117. 1
68634051118. 2

68634051119. 3
68634051120. 4

Question Number : 80 Question Id : 68634012940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT sioll & TS Ided & o, dHiarss AL BTUTIC o &1 Gefifd H3dl gl

1. SHHI: 3FR&D HIGl S d qUl T80

2. PR U RIIYS, SREP quT fEfe o e

3. SPHRI TGS S, I WIde qUl AIel oS

4. PHRHIGT oD, AP dUl A< wi-{P

Options :



68634051117. 1
68634051118. 2
68634051119. 3
68634051120. 4

Question Number : 81 Question Id : 68634012941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ultrastructural details of constituent cells of female gametophyte was first explained by:

1. Panchanan Maheshwan

2. Jack Hesslop-Harrison

LS

. William A. Jensen
4. N.S. Rangaswamy

Options :

68634051121. 1

68634051122. 2

68634051123.3
68634051124. 4

Question Number : 81 Question Id : 68634012941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS GBS B YU DITADIS & WRERTES qui BT auym................. &R1 ¥ foar |
1. 9T A

O ST SR

. faferam v oHem

.0, Tt

[ ]

¥
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Options :

68634051121. 1
68634051122.2
68634051123. 3
68634051124. 4

Question Number : 82 Question Id : 68634012942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Aponixis Type Feature
A | Ixeris I. | Precocious desynapsis
B. | Allium II. | MMC bypasses meiois
C. | Taraxacum ITI. | Asyndetic meiotic prophase
D | Antennaria IV | Premeiotic chromosome doubling

Choose the correct answer from the options given below:

1. A-IIIL, B-IV. C-1. D-II

[ ]

AL B-IL C-IV. D-III

L#N]

ATV, B-ITLL C-I1, D-1
4. A-1. B-II, C-III, D-IV

Options :

68634051125. 1
68634051126. 2
68634051127. 3
68634051128. 4

Question Number : 82 Question Id : 68634012942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 191 941 11 9 faH iy

A I T I
SRR 1 | @regd fagagee
I 11 MMC e Y §Tg] UY o Tidl g
SFHBH 111 [efdeicd SeaauT galaey]

ueHRar IV. [areleprorgd ot @1 feruH
fFafeiRad faeedi T O 9l 3R &1 99+ Pifo ;

1. A-III. B-IV. C-1. D-II

ofa[=»

2. A-IL B-1. C-IV, D-III
3. A-IV. B-III. C-I1. D-1I
4. A-I, B-II. C-III, D-IV

Options :

68634051125. 1
68634051126. 2
68634051127.3
68634051128. 4



Question Number : 83 Question Id : 68634012943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In CAM pathway, the stomata :

1. opens during day

[ )

. opens during night
3. remain closed during day and night
4. remain open during day and nigt

Options :

68634051129. 1
68634051130. 2
68634051131. 3
68634051132. 4

Question Number : 83 Question Id : 68634012943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CAM AF IR EHel-
1. A dgad g
2. 1A DI Gaid ©
3.fEARIaAdewa T
1 T dRad g ed s

Options :

68634051129. 1
68634051130. 2
68634051131.3
68634051132. 4

Question Number : 84 Question Id : 68634012944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true regarding the nature of cell wall of different microorganisms?

A Cell wall of bacteria is composed of true peptidoglycan a complex having muramic acid and cross links
of L-amino acids.

B. Membrane lipids of Archaea contains branched chains attached to glycerol by ether linkage.

C. Cell wall of fungi are majorly made up of chitin.

D. Virus and viroids lack cell wall.

E. Cell wall 1s absent in mycoplasma.

Choose the correct answer from the options given below:
1.B.C.D. E only
2.A.B.C.D.,E only
3.D.E. A only

4.C.D. E only

Options :

68634051133. 1
68634051134. 2
68634051135. 3
68634051136. 4

Question Number : 84 Question Id : 68634012944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafir gersiifadt Hifdre i @1 ueld & fawa & 9§ 4 oF 4 $Y= 981 82
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yiawsiad §uf gRIEIaT 2 |

A. 31 T el ferfts & ety Saend Sidi 3. Off FeraRie & 91 $UR 64l gRIS[S! 81 &
B. Blha &l IR (R 9gEd: Srgfc 4 & gidi g1

c. faumpsii aur argRizs ¥ ifre ik 71 gidi|

D. ATSHITaH H St fify 78l urg ot

== fou Tt fadedl O U U8l 3TR &1 994 DIl
1.$du B, C,D,E
2. $dUA.B,C.D.E
3. 9duD.E A
4. %dd C, D, E

Options :

68634051133. 1
68634051134.2
68634051135.3



68634051136. 4

Question Number : 85 Question Id : 68634012945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Formation of gas bubble leading to collapse of tension in liquid phase during water transport in xylem is
called:

1. Capitation
2. Adhesion
3. Cavitation
4. Cohesion
Options :
68634051137. 1
68634051138.2

68634051139.3
68634051140. 4

Question Number : 85 Question Id : 68634012945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SgeH H O] Hag & &R aRe Sl H a-1d & [Spgul &t e HUER S aIe 119 & gagal &
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Options :

68634051137. 1
68634051138. 2
68634051139. 3
68634051140. 4

Question Number : 86 Question Id : 68634012946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During operation of C, oxidative photosynthetic cycle, molecules move from one organalle to another in
following manner:

A. Glycine is transported to mitochondria
B. Glycolate 1s transported to peroxisome
C. Serine 1s transported to peroxisome

D. Glycerate is transported to chloroplast.

Choose the correct answer from the options given below:
1.BA. D, C
2.B,A,C.D
3.A,B.C.D
41 A.B. D C

Options :

68634051141. 1
68634051142. 2
68634051143.3
68634051144. 4

Question Number : 86 Question Id : 68634012946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C, Bl UTRERNT Fh0l B Hfhd & GRM, 30] TP DG I g T Ao 1 3 fog yor
09 Pd &2

A. TS HIA HTgsh il 3 afed i g1

B. WE@de, RauH & digd gial g |

C. WA, Wieigy ¥ aiga siar g |

D. fiereve. FaRiare ¥ afgd g ¢

i fau U fashedl § T 91 TR &1 98- BHifeIU:

1.B.ALD.C
2.B,ACD
3.A.B.C.D
4. A B DLC

Options :

68634051141. 1

68634051142. 2

68634051143.3
68634051144. 4



Question Number : 87 Question Id : 68634012947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Sugars translocated in phloem are in non-reducing form.
Reason R: The non-reducing sugars are less reactive than reducing sugars.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A s true but R 1s false
4. A iz not false but R is true
Options :
68634051145. 1
68634051146. 2

68634051147.3
68634051148. 4

Question Number : 87 Question Id : 68634012947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁﬁraﬁ B AU T &, U 3MUBYUT (Assertion A)dD 9 H (efEd € 1 THRI IUP BRUI (Reason R.)P FU
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Options :

68634051145. 1
68634051146. 2
68634051147. 3
68634051148. 4




Question Number : 88 Question Id : 68634012948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Ruska developed first transmission Electron microscope (TEM) which has resolution 1000 times
better than the light microscope.

Statement IT: Transmission Electron microscope uses very advanced glass in their lenses.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement I is false
4, Statement I is false but Statement II is true
Options :
68634051149. 1
68634051150. 2

68634051151.3
68634051152. 4

Question Number : 88 Question Id : 68634012948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fy 1 TP 5 Uedl oIaitRH soaeld A id (TEM) et e fae fagee wemria
mﬁlwﬁuﬁmoowaﬁ% P

T 1Y Soge AIShRDIT & obl 8§ 3ad el &7 IudiT fhar Sar g |
SWRIH DY & 3Tl H. 19 [4U MU fdoedi # U 9ad Iuge I &1 94 Difely

1. BUT IR YT ST TR &

2. FYF 1 R BUF 11 1 T8 e §
3. PYTIHEI 6. Alih DY 11 717d ©
4. HYF 17T0d ©, Wi BY-T 11 9l §

Options :

68634051149. 1
68634051150. 2
68634051151. 3
68634051152. 4



Question Number : 89 Question Id : 68634012949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During biological nitrogen fixation, ATPs are required to fix molecular nitrogen into ammonia.

1. Four
2. Eight
3. Thurty two
4. Sixteen

Options :

68634051153. 1

68634051154. 2

68634051155.3
68634051156. 4

Question Number : 89 Question Id : 68634012949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifd® Ageior RIS & SRM. figd Ageia- &l Mo 8 RR & & forg ATPs B!
JTaRaadl eidl gl

1.9dR

[ ]

3G
CHIE|
4. HIeg

Options :

68634051153. 1
68634051154. 2
68634051155.3
68634051156. 4

L

Question Number : 90 Question Id : 68634012950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The fatty acid synthesis is carried out in which part of the plant cell?

1. Cytosol

| ]

. Plastids
3. Mitochondria
4. Lysosome
Options :
68634051157. 1
68634051158. 2

68634051159. 3
68634051160. 4

Question Number : 90 Question Id : 68634012950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ey SIfHT & 59 YN & GH1-315 &1 Tyl 5lidl © Sy

1. grsergid
RS

R IEECaIRST
4, A

Options :

68634051157. 1
68634051158.2
68634051159. 3
68634051160. 4

[ ]
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Question Number : 91 Question Id : 68634012951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Pyrethrum compound is derived from several species of Parthenium which 1s widely used as an
msecticidal preparation.

Statement II: Parthenium is a native plant of India grown in Northern Plains and has ecological importance.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct

J

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4. Statement I 1s incorrect but Statement II is correct

Options :

68634051161. 1
68634051162. 2
68634051163. 3
68634051164. 4

Question Number : 91 Question Id : 68634012951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &l A fRE g 8

o= 1 WA TE Ft fafi wivie O urRys 9w o orar 8 of Steamht 91 & o g sa 3
ST H T ST B

= 1 N HTT YR &1 U (W) Td U154 § ol Sudl HaH| 3 3771 Sl & aul 38! IRffdes
5@ 3|
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1. B 1 AR BUT L SHI U5l 8
2. U 1 3R B 11 3T et ST §
3. BYA 1 ET &, AP YT 11 779 &
4. T 17T &, Afeh U 11 T &

Options :

68634051161. 1
68634051162.2
68634051163. 3
68634051164. 4

Question Number : 92 Question Id : 68634012952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LIST1I LISTII
Metabolic Cycles Organellae(s) involved
A | Glyvoxylate Cycle [ | Chloroplast
B. | Citric acid cycle II. | Glvoxvsome
C. | Calvin Cycle ITI. | Mitochondria, Chloroplast, Peroxisome
D. | C; oxadative Photosynthesis cycle | IV, | Mitochondria

Choose the correct answer from the options given below:
1. A-II1. B-1. C-I1. D-IV
2. A-IV. B-1I. C-1I1. D-1
3. AL B-III. C-IV. D-I1
4. A-IT, B-IV. C-1. D-III

Options :

68634051165. 1
68634051166. 2
68634051167. 3
68634051168. 4

Question Number : 92 Question Id : 68634012952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 =l 11 ¥ fiaH Sife
e L ¥ I
A [Ergiice 96 1 [FRERe
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1. A-IIL. B-1. C-I1. D-IV

| ]

CA-IV, B-IIL C-IIIL. D-1

LFN]

AL B-IIL C-IV, D-I1
4. A-II. B-IV. C-1. D-III

Options :

68634051165. 1
68634051166. 2
68634051167. 3
68634051168. 4



Question Number : 93 Question Id : 68634012953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PCR involves the following steps. What 1s the correct sequence?

A Visualisation of amplified product
B. PCR machine run

C. DNA isolation

D. Loading of PCR run

E. PCR reaction setup in tube

Choose the correct answer from the options given below:

1LAB.CINE
2.C,E.D.B.A
3.B.A.D.C.E
4 E.B.D.C.A

Options :

68634051169. 1

68634051170. 2

68634051171.3
68634051172. 4

Question Number : 93 Question Id : 68634012953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O 3t oR & fafafad IR 8ld § | 5991 Jal &0 1 87

A faaf¥d 3d1g o1 =ngdiaru

B. Ui 9t 3R #=H T (PCR machine)

C. 1 TH T gUadh

D. U1 Tt 3R T o1 AifST |

E. AferepT 8 Ut 9 3R 3ffifhar g ®iga

14 fau e fased & € 9el IR &1 997 Bifoig:
1.A.B.C.D.E
2C,E,D.B.A
3.B.AD.C.E
4 E.B. I C,A
Options :

68634051169. 1
68634051170. 2



68634051171.3
68634051172. 4

Question Number : 94 Question Id : 68634012954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For fusion of protoplast this chemical 1s used as a fusogen:

1. Potagsium Sulphate

b2

. Chloroform

L¥S]

. Polyethylene Glycol (PEG)
4. Glycerol

Options :

68634051173. 1
68634051174.2
68634051175.3
68634051176. 4

Question Number : 94 Question Id : 68634012954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 T &I HieTRe 976 § Uh Ta® & 99 § Sugi fdar 9l 82
1. TIefay Tethe
FARIBIH
OIS TS @ A(PEG)
4. TR
Options :
68634051173. 1
68634051174. 2

68634051175.3
68634051176. 4
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Question Number : 95 Question Id : 68634012955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mendel's first three postulates include:
A. Linkage of genes
B. Unit factors in pairs
C. Dominance/Recessiveness

D. Monohybrid cross
E. Segregation

Choose the correct answer from the options given below:
1. A.B.E only
2.C,D, A only
3.B,C.E only

4. A B.D.E only

Options :

68634051177. 1
68634051178. 2
68634051179. 3
68634051180. 4

Question Number : 95 Question Id : 68634012955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hed o wyd dF AfvuRonst 3. F9 3 9 sH-en Wi 82

Sil- &1 Yeaudl

A. SIS H UDiP PRG
B. WHTfaansmnfaar
C. TH YR R

D. JUTHI|

I feu U faeedi § U 98! IR &1 98- Difoig;
1.%dd A.B.E
2. HAuC. D. A
3. 9dd B, C.E
4, PAUA.B.D.E

Options :

68634051177. 1
68634051178. 2
68634051179. 3
68634051180. 4



Question Number : 96 Question Id : 68634012956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
pBR322 I. |EC Cockings
MS medium II. | Kary Mullis

PCR reaction IT1. | Bolivar and Rodrigues
Protoplast culture | IV. | Murashige and Skoog

ofofw]>

Choose the correct answer from the options given below:
1. A-IV. B-IIL. C-II. D-I
2. A-I B-II. C-IV. D-III
3. A-IV. B-1. C-11I. D-II
4. A-II1. B-IV. C-II. D-I

Options :

68634051181. 1
68634051182.2
68634051183.3
68634051184. 4

Question Number : 96 Question Id : 68634012956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 61 I 11 9 e ifey

el 1 T I
bBR322 I 531 ®ifg™
Ms Tifsga | 1 [ |l
PCR. ATUTRaT | 1 [afefiar iR Afaaq
 |oieEre dadE| v [FRRE AR w5

Fafafad 9ol § O 981 SR & 994 BTl -

1. A-IV. B-III. C-II. D-1

olo|w|=

2. AL B-IIL C-IV, D-III
3. A-IV, B-1, C-III, D-II
4. A-III, B-IV. C-II. D-I

Options :

68634051181. 1
68634051182.2
68634051183. 3
68634051184. 4



Question Number : 97 Question Id : 68634012957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: The orange colour of henna 1s due to lawsone (C;yHgO,) present in dried leaves of Lawsonia

gcnus.

Reason R: Lawsone is an oil soluble compound which can be extracted from the leaves using soxhlet
extraction.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634051185. 1
68634051186. 2
68634051187. 3
68634051188. 4

Question Number : 97 Question Id : 68634012957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HUA AU U B, TP SATUDYA (Assertion A)F $U F fATRGd § T GIRT 39D PRI (Reason R ¥
T

AYDYTA: HE] BT TR T GHEIFAT S8 & @ Ol 8 U1 S aTdd A1 (CgH05)% HRI S 2 |

gﬁﬂ?r&:ﬁi’%ﬁ?{@ﬁﬁﬁgﬂﬁ?ﬂﬁﬁﬁﬁ?%mﬁml Tlageic APy gftal & STaNT gRT gRT fdhar Sl
|

SWRI DY & 3ATcld H. - 34U MU [dhedi # U G U] I 1 94 Bifeil
1. A SR R GHI 961 § R R. A D! el URAT &
2. A 3R R 3 W81 € 3R R. A B UEl oIS 81 §
3. AR B OfT R TR TR

4 ATEI TSI afTR OB B

Options :
68634051185. 1
68634051186. 2



68634051187.3
68634051188. 4

Question Number : 98 Question Id : 68634012958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

A
A @O p[_ij A “L'-"ﬂ I. | Carvophyllaceae

B. |® ¢ EpiK, K5y Cs A, G

..lfl II. | Solanaceae

/7‘ s
C.|@Q K{S] (‘r_s]'ﬂ‘i Gr_:—:. II1. | Chenopodiaceae

7
D |®0Q KsCqAg s G[‘-I IV | Malvaceae

Choose the correct answer from the options given below:

1. A-TI. B-1. C-IV, D-III
2. A-IV. B-III. C-I. D-II
3. A-L. B-IL, C-III, D-IV
4. A-IT1. B-IV. C-II, D-I

Options :

68634051189. 1

68634051190. 2

68634051191.3
68634051192. 4

Question Number : 98 Question Id : 68634012958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 1 Gl 11 9 o sifey

T 1 T 11
A CD(;‘-":['[HA_..,H“, 1. [Sigifthear
B. |® ¢ EpiK, ?K[:.JE*F__-'[MG“._I II. Gt
c @gfl(ts] CisAs Gpy) 1L [
D |@ G K, C; A, Gps) IV, (ATt
fFafaRad famedl § T el SR &1 997 DIfo -

1. A-IL. B-1. C-IV. D-III
2. A-IV, B-III. C-1. D-II
3. A-L. B-II, C-III, D-IV
4. A-III. B-TV. C-I1. D-1

Options :

68634051189. 1

68634051190. 2

68634051191. 3
68634051192. 4

Question Number : 99 Question Id : 68634012959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Labyninth seeds | [ | Echakium elaterium
B. | Anenochory IL. | Armrennaria alpina
C. |Autochory 1. | Kingiodendron
D. | Diplospory W | Oroxgplum indicum

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III. D-IV
2. A-IV. B-III, C-II. D-I
3. A-IIIL B-IV. C-1, D-II
4. A-I. B-II. C-IV, D-III
Options :
68634051193. 1

68634051194. 2
68634051195.3



68634051196. 4

Question Number : 99 Question Id : 68634012959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 191 941 11 9 faH iy

T I g I
e Yff® dia 1. |vamidad saciad
@ U0 1L |Ge1=Ra7 TediT
%G U U (JHleldRn| 1L (/G a7
B EEEEINGI] V. |svifeaam slamqg

ol Al § 3 9l IR & 99 ST .

1. A-II. B-1. C-IIL. D-IV

ofa[=]»

2. A-IV, B-IILL. C-I1. D-1
3. AL B-TIV. C-I, D-I1
4. A-I, B-1I. C-IV. D-III

Options :

68634051193. 1
68634051194. 2
68634051195.3
68634051196. 4

Question Number : 100 Question Id : 68634012960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A Cosmid is a specialised vector composed of cos sites of phage .

Reason R: cos sites enable the DNA to get packed in lambda (1) particles.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. Ais not correct but R is correct

Options :

68634051197. 1
68634051198. 2
68634051199. 3
68634051200. 4



Question Number : 100 Question Id : 68634012960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 PU (AU T §, U SHNDYA (Assertion A)P $U H [AIRGd § Il §IRT 3HD PRUI (Reason R.)P ¥
o

3T A: DS T UHT fARIY DRP Sl WINHS © 1. 45h & cos =i ST S8
BRI R: cos RIT, S T T P! TEST o) BN H §¢ &H & g Wi arg |
SRIK HYT & e B, i Gy 7Y [deedl § 4 Fa8 Iuged IR &l 99 Sifey
1. A SR R G 981 § 3R R. A P! Tel ARAT &
2. A SRR EFI 981 § SR R. A BT U8l oI g &
3. ATE BRI R TS §
4. A G181 € Al R el &

Options :

68634051197. 1
68634051198. 2
68634051199. 3
68634051200. 4




